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And a person cannot commit himself as being wicked.

OVERVIEW

Xnr 92 27 taught that (even in a case where X"pnn XX 2"nd 1K) if the o7y
claim that yvn nnma 11°°7 001K 2R 17 X7 °"ND they are not believed to be S0
the 7vw. The reason that we do not accept their testimony that they were 2°01K
Tan nnnn is because it is forbidden to sign on a 7w on account of an 711 OIN.
A person is not believed to testify anything that will make him a ywn. The fact
that a person is considered a relative to himself prevents us from accepting any
testimony affecting his status (except for an admission of owing money). We
cannot therefore accept the testimony that they were 7%n nnann ooux. If
however they claim mws1 nnnn 1177 2°011K, where they are not testifying in
regards to their status (there is no 7772y if one signed NWwo1 01X NA), they are
believed to be 201 the vw (for there is a TORW 73917).

The statement of 11m% nunn 1177 O°01K 1s (seemingly) composed of two parts;
first, that they were forced to sign the 7w (meaning that they did not see any
loan taking place, and therefore their signatures are meaningless [this alone can
be an acceptable testimony (if it was mws1l nnnn)]), and second, that the
coercion was monetary in nature [this is not an acceptable testimony for X"X
2"vn.

There are other cases where an 7¥ testifies in a manner that is seemingly
(partially) unacceptable (similar to our case), however we divide this
(unacceptable) testimony into two, and accept only the valid part, and
reinterpret the invalid part to allow the testimony. The resultant testimony is
then accepted. This is known as &M2°7 j1a%0. We divide the testimony.
Seemingly in our situation the idea of X127 1A% can (also) be applied.
However it is not. Mo01n will differentiate our case from those cases where we
do say X112°7 130399,

mooIn asks:
— (0w 3,0 97 PATIVT NP P2 NPT 19999 N2T 9207 N INN ON)
And if you will say; but X239 maintains in the first P95 of 997710 that we
divide his statement. This was said by X327 —
— 91897 %3929 3999 1)
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Regarding the cases where one testified ‘that person sodomized me with my

consent’; the law is that he can team up with another 7y and have this perpetrator put to
death for 751 20wn.! We split his statement. We accept his testimony that sodomy was
performed by the alleged perpetrator but not with the accuser.”> We cannot accept his
testimony that he preformed sodomy willingly, for ¥w vy o°wn 07X 7X. A similar ruling
applies when he testifies -

—NYN DY N2 20109

Or ‘that person came upon my wife’. The ruling is that together with another
supporting 7V, the accused will be killed for vk nwxX 710°X; however the wife of the accuser
will not be killed even if he testified that she consented. The reason is that he is a relative to
his wife and a relative cannot testify. There too, we split his testimony. We accept his m17y
concerning the adulterer, that the man committed adultery, but not concerning his wife. This
is called X217 17395, We accept that part of the testimony which is acceptable. n»oIn
continues with the question:

— VO HNNM NIN 191 NNNN XY HAN 1PN 02DIINT 191297 NI 15 ON
If this is so that X271 maintains X712°7 13°379, then here too let us believe them
that they were coerced to sign the 70w (which is an acceptable testimony),
however it was not for monetary reasons as they testified (which is an
unacceptable testimony since they are 2°ywn onxy 2°wn) but rather on account

of saving their lives (which is an acceptable testimony).

We cannot argue that our X713 does not subscribe to — *XM12>7 117399
— N1 NA9T NDYNT

For we are following the view of X39! He is the one who maintains 81127 13%5.
mooIn is asking why by °11¥7% *1v21 1195 which is an unacceptable testimony, for he is 2wn
YW MRy by saying *11¥1? *1¥27, nevertheless we accept ¥27 °17%9, (and we reinterpret 1y
X7 to mean 11999 ¥a7). The same should be here where they testify 1vn nanm 117 201K
(which is an unacceptable testimony, for they are 2°ywn onxy own by saying 1vn nann). Let
us also accept only the 11771 @°011K, and reinterpret 177 nanK to mean MWl nann as we did by
X7 *1y27 1195, The Tvw would then be 7108.

N150IN answers:
- 599WN NN 9IVAY 575 X913 13999 XY 133971 MDY 0157 113 MY Y

!'If the accuser testifies that he was coerced into sodomy then all agree that he is believed. There is no need for
XT12°7 11°399. [A victim can be an 7¥.]

2 See mooIn there TXY "7

3 See ‘Thinking it over’ # 1.

4 21 challenged the initial understanding of 11"27; presumably X211 agrees with the conclusive understanding of
11"27 that 1vn Nann 10 001K is not believed even if X"prnn KX 2"nD PX.

5 xn»7x77 the 0>y would not be believed to be 901 the 70w in the Xw™ even if they said Mws1 nann DONR,
because since there is no need for o1p, there is no W » (it is as if X"pnn X¥Y °"nd). It is only 1312771 who require
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And one can say since the necessity to authenticate documents is a rabbinic
enactment; 77077 72 we assume that MY TIPMIY SnD WY1 0wn oY DN 07y
7"23 and no ovp is required. Therefore, since this 20w 1s 7707 12 2P0 we do

not divide their statement in order to invalidate the 9uw.® The testimony of
these 0°7y, as given, is unacceptable since 7"v» XR"X. The 0w is 7707 1 2™pn. The o°non
will not use the extraordinary measure of X12°7 11395 to invalidate this orp.

mooIn offers another answer:
— $HIVOY NNNM 150 BIONNT 12NN 9129 139 PNT I
And furthermore our case of 1177 001K is different than °1v27 °11%5 for we
cannot claim on our own that they were forced under a death threat —
- T5PWr9979 NYAY XY MVUDI NNND OINT
For it is uncommon to coerce witnesses to sign a loan document with a death
threat, as I previously explained -
— 9NN DN Y29V IN INVUN DY XAV 199 NINN YIN NYN DY NaY NIV 0NN YaN
However, there by °11¥7% *1v27 "% or *nWXR %¥ X2 1199 it is just as common
that the alleged perpetrator came upon another man’s wife just as he came

upon his wife, or that he sodomized another person not the accuser. m»oIn
answer is that we can say 8M2°7 12375 only when the reinterpreted version is as likely a the
original (as in 17710 'on). If however the reinterpreted version is highly unlikely (as in our
X7m3) we do not say 871277 11°395.

— N1 NN DIRT NONY 9199 (0w 3,n5 91 INNAT 72 PID 9102 1NN 1)
And similarly by the case of ‘I killed him’ in the end of the second 99 of
Mn2s noon; for it is just as possible that another person (not the 7v) killed
him. It is just as 1w, therefore we say X112°7 1295,

mooin offers yet another solution:
— 1321 ©YOINNT XWHITD D NIV 0NN IN 1IN0 HNINNT NID 2INY ) N
If you wish you may also say that here by 1177 0°01X it is different than there

avp that they are believed if they say mwa1 nnnn (because of the ToXw 71977); however the "oRw 71977 will not be
effective if we require the additional w7 of 11395 as well.

¢ This answer may be more readily understood if we assume that 0°R3 19X 777 means merely that the 0w is
not 0P [but not that it is destroyed, see »71 7" 10 footnote # 1]. The a°»on did not institute a 7" since even if
they are believed it will merely be a vw without 1", which is n"nn 7w>. See ¥"¥1,2"¥ MR 7"510.

7 See previous nann 7"7 MooN (by footnote # 5).

8 The w"wA is 'v27w' 0 (not W2 w). The 11390 is not that it was >01%? (instead of °11¥1?), but rather that he was
¥27 another person; not the 7y. See footnote # 10.

% The xm3 there infers from the 71wn that if a person claims ‘I killed him’, the wife of the alleged victim is
permitted to remarry. In that case there is also the issue of 71"yn X"& and nevertheless we permit her to marry
only on the basis of R112°7 117375
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by 121 °1y27 1179, for their statement of ‘on account of money’ or on account

of a death threat’; these phrases are the explanation of ‘we were forced’. It is
not a separate statement; it is a necessary qualifier to explain how they were coerced —

— N91297 19999 XY 799N

Therefore we cannot divide their statement; for there is only one statement —
- sy 9393 913297 9N INWUN DY X2 IN 1099899 Han
However, the addendum of ‘willfully’ (which makes him a yw1) by *1v27 *1%5,
or ‘came upon his wife’ by 1nWR 5y X2 1195, these phrases are considered a

separate statement not intrinsically tied with the initial statements. Therefore (only) in
those situations (do) we say 82’7 1°379.

moon offers a final distinction between the cases:
— 9991 DYUNN OOIMINY N1 NI MTY 97°¥ XON 12919) ON
If you wish you may also say that here the main testimony consists in their
saying that %7 2501R —
— 919N IN XDV 91217 INAY 139N

Which means, that they came to testify that they did not see the loan take
place —

— D929 Y199 YWY XD DN INNNY 1175 DYV DNYY DIWVIY 191 19 DN

If this is so that they are testifying that we signed a document illegally they

immediately commit themselves as being 2%ww=, since they signed on a

document without knowing whether it is true, unless they interpret their
actions (that they signed it because they were mws1 nann 2201KR) —

— N7 19909 XN YW XY 795N

Therefore the concept of X71297 19375 dos not apply here, since in the main
thrust of their testimony they become oy —

- INYN NN XYY AW WY Ny Y 99y BymaanT Xonn ban

However, by that case of ""na9i1' the main thrust of the testimony is to

testify that the husband was killed (not who killed him), in order to enable his
wife to remarry —

— MY NIND MTY PPV INVUN DY NI IN 1939 29199 1)

And similarly in the cases of 129 51795 or WK ¥ X2 the main thrust of the

10 According to the X07°3 of the w"wA (see footnote # 8) Moon should not have said 1%, but rather "Wwaw'.

' The claim of 201X requires a qualifier intrinsically. How did the o1x take place? We are not 11°379 an
intrinsic qualifier. The claim of *1¥21 does not require an intrinsic qualifier. The act of 1¥*27, or 77°v2 with an
R"Y, is sufficient grounds for 7n» 2vn. The qualifier is merely completing a statement.

12 See ‘Thinking it over’ # 2.

13 mpoin asks first from ">nan7A' for that seems most similar to 2°018. He begins by saying ‘I killed him’.
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testimony is to kill him; in the main thrust there is no ywn ¥y Dwn —
1PN NN KD INYN 2239 1N YW 1I8Y DIWNY 22399 19891357 139499 4950

Therefore we divide his testimony; concerning making himself a pyws
(through saying °11¥9% °1v27 or 1°na7) or concerning his wife (that she was an
adulteress) he will not be believed and we are x112°7 173%s.

SUMMARY

nmoon offers four criteria for accepting or rejecting X127 110395,
a) If it does not go against a Xn™71X7, but not if it is against a XnN»7IRT.
b) If the 132379 is m°Ow, not if it is not oW
c) If the unacceptable statement is not integral, but not if it is integral
d) If the thrust is acceptable, but not if it is unacceptable.

THINKING IT OVER

1. m901n asks that here too there should be a XM2°7 11°395.1° Seemingly, there is
a X712°7 1195 by 1171 2°01R. We believe them that 731 X1 °"n2, but we do not
believe them that 11°°77 ooonx! '

2. What is the difference between 19010 answer of 121 7171 NHANT RO OIRW 1R
91 X0 1777, and N1voIN final answer!” 191 N7V P Ko7 3"R21E

14 We accept his main testimony to kill the perpetrator or allow the woman to remarry; and in order that his
testimony not be discredited since he also stated certain aspects which made him a yw1 we are X712°7 727375,

15 See footnote # 3.

16 See ¥ MIX 7"O10.

17 See footnote # 12.

18 See 717 217
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